=N: B
Ha: HARO TADHO T U HRI(STHSLL/AY - AE)
tel: S 2 22 (Crel: &)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
Sl o 9,500,019 9,571,253 27,766
= 144,586
Il 1,790,000
= 428,769
Al 7,235,664
ASST CAZEY X4 o 2ol(STHIFa/ e - iE) 4,988,330 4,392,490 505,840
= 26,600
| 990,000
= 201,420
Al 3,770,310
SELE & 2 4,988,330 4,392,490 595,840
= 26,600
| 990,000
= 201,420
Al 3,770,310
e E 2,000,330 1,562,490 437,840
101 21244 101,434 137,298 A35,864
04 JIZtH22 XS E= 101,434 137,298 A35,864
2R L TS0 22| 21 82,880
~3¥ o IF20F B2 ARY
78,8803 *4H+250! 78,880
—II=HI(QFE, OFEE, EFY S)
500,000 *4 %23 4,000
O2=01% ompRlE oleel 18,554
—2=0/T AFEAN ARY
78,8803 4 H+552 17,354
—II=H|(QWE, o5 S)
300,0002+424+13] 1,200
201 ZEH=2 | 174,79%6 99,892 74,904
01 AlR-2teld 82,800 30,200 52,600
OZREHTA H2 89
30,000, 0003 * 14! 30,000
OOZI0I=0IAIE QHF DS
100,000&+2H 200
Oz m2lg &40 2|
50,000 &1 +607H A+4 3] 12,000
0TV o THRRIS I YR
1,000,000 3CH*12& 36,000
OZ =4 22IS HIE 7Y
100,000&*3H 2+ 122 3,600
O2=01% A5Y g
10,0002 100 1,000
02 E232EH| 91,9% 69,692 22,304
OZAZ &2 X 22l
1,000, 000& #2001 A 20,000




2A:
X{XH -
o /e

cH):

S 2|t

HARQ CAIBRO =M o 2e|(=SolLa/ g - &
ZAXN U 2P|

oo = —

SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
O02l0l28 =0IAIE ZIIZA 42
300,000 * 1374 A 3,900
OO02l0|3¥ =0IAIE BiaEALE IH
120,000 % 137H 2 1,560
OZAIBH (20, ZEX ) AL SX 22|
40,800
—&Jea 2,600,000 128 31,200
—AEIEERS 800,000 122 9,600
O=2¢ & xZ2e| &l R 2,000
—=Z0FD| 50,000 %4 CH*43] 800
—s8d8| 50,0004 *4CH*43] 800
—IIAS 50,0004 x2CH*43] 400
OB 2 THALE AXXEY 272 A
FAlEl 100, 0002430 * 122 3,600
ozize| A 88 7Y 3,180
] 1,72024%1,500 4 2,580
—dXeY U FESR 3,000&*200 £ 600
O22 2 XIS AKX 2R
1,57024%300 £ *3CH*12& 16,956
206 THEH] 29,000 31,300 A2,300
01 XH2H] 29,000 31,300 A2,300
OZAIZE 22 22| 29,000
—SZHE UHE 2AM 2
5,000,000 x43] 20,000
—ZUCR L TP
30,0002+ 105+30H 9,000
301 Y2 A S 3,600 0 3,600
14 DBt A2 3,600 0 3,600
OglIZHol Al X =HI 300, 0002 x6S 1,800
OgIzol Tl a2 300,0002x6H 1,800
307 212+0| & 1,200 0 1,200
12 QI2IQIRIEF =] 1,200 1,200
OJIAHI22A ot ns XIS
120,000 10H 1,200
401 Al&H| 2 S HY 1,690,300 1,290,000 400,300
01 Al&H] 1,682,640 1,285,536 397, 104
O0{2I0128 HHIBA
300,000,000 * 141x99. 28/ 100 297,840
OZAIB2 5 AES B4 L Wl 2A 497,600
—HE FA [T DA S AlA FHY|
100,000,000 * 14! 100,000
—02I0I=0IH HH| & 2
60, 000,0002 *37HA*99.4/100 178,920
—S42 2IEHS S HMOHHER &X|
100,000,000 x141%99.4/100 99,400




SA: SEA2telt
A HAHEC TAIZBRO M L 2L (SSoHYLAH ALY - ALE)
cell SR 2 22 (cro): =2l
SN B O(3H) - MBEAR - BAS Ofl ko e MMimE="
-2 L AEE B € §EXNE U]
120,000, 000& *14!1%x99.4/100 119,280
OZASE SN2 SAl 397,200
—0glo] =001 & A=
1,000,000 *100H A +331%99.3/100 29,790
—2S U $SHE
200,000& #5002+ 12|%99.3/100 99,300
—0l= & gails ZHl
67,500,0002%45]%99.3/100 268,110
OQHEX ¥ s3SI W =X 22| 400,000
—S8s3EA F=H S2S=KEHISAH
200,000, 000& x 14! 200,000
—L& a2 o AL ZY)
50,000, 000&*14] 50,000
—0=x & dolls ZAl
50,000, 000& *33] 150,000
o220 2921 ZAAFH(FCIZ00A
90,000,000 =14 90,000
03 Al 20HYI 7,660 4,464 3,196
O0glo| =23 HdIZBAt
300,000,000 x141%0.72/100 2,160
OEANSE == AE= B L WXl SA
2,700,000& =14 2,700
OZAIEB& SX22| SAt
400,000,000&*141%0.7/100 2,800
IIEZ23 A 900,000 400,000 500,000
401 AIEHIL 204 900,000 400,000 500,000
01 Al&EH]| 894,330 400,000 494,330
OJIEsd Z4AY 894,330
—IIEs3 EESHN ZEAE
900,000, 000& *141%99.37/100 894,330
03 A& SCHY| 5,670 0 5,670
OJI=2& &AL 5,670
I3 HESM THAY
900,000,000 *141%0.63/100 5,670
FErad ZHAI 400,000 2,430,000 A2,030,000
401 AIEHIZL 204 400,000 2,430,000 A2,030,000
01 Al&H]| 400,000 2,430,000 A2,030,000
O=7&2&d Fd| 400,000
—7sizE HBEAN
200,000,000& x 14 200,000
—7E2 L5 OFAA DR
100,000, 0002 * 14 100,000
—PEBY A Y|
100,000,000/ *1A! 100,000
(R)=sMI2 XASAMSE(2EUsEXY) 1,650,000 0 1,650,000
J| 990,000




SA: Sz
JH: YHHQ TABRS IH Y 2| (SHYSL/AY - E
tel: XY ¥ 2 (crol: ®al)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
< 198,000
Al 462,000
401 AIZHI L2 THYI 1,650,000 0 1,650,000
Jl 990,000
= 198,000
Al 462,000
01 Al&H] 1,648,845 0 1,648,845
OJI232 PHMLIsL =4
1,650,000,0002*141x99.93 /100 1,648,845
Jl 990,000
= 198,000
Al 460,845
03 Al&=CHb] 1,155 0 1,155
O3 2HMLIEZ =4
1,650,000, 0002*141x0.07/100 1,185
EREEEWEWETE] 38,000 0 38,000
2 26,600
= 3.420
Al 7,980
401 AI2HI L2 THYI 38,000 0 38,000
2 26,600
= 3,420
Al 7,980
01 Al&H] 38,000 0 38,000
O/RI=ZAT| AtE2r2)
38,000,000 %141 38,000
2 26,600
= 3,420
Al 7,980
SAHAD HE U SMAHIA RIS(SENSSA/ LY - ME) 4,532,783 5,178,763 £645,980
2 117,986
pJ 800,000
= 227,349
Al 3,387,448
NESY 4,532,783 5,178,763 £645,980
2 117,986
Jl 800,000
= 227,349
Al 3,387,448
(2)J1=0S TAE =4 1,000,000 0 1,000,000
pJ 500,000
= 150,000
Al 350,000




SN 222N
HI: =MAD EE U SAMHIA 2 (SHL A/ AL - A=
[ DI PN s (CHR: X 2)
A - B O9|(30) - HRAKY - BaS Ol &k e HI M2t
401 AIEHI L2 0HY] 1,000,000 0 1,000,000
7l 500,000
[ 150,000
Al 350,000
01 Al&H] 998,000 0 998,000
ODINIZR XtEhss B4
1,000,000,0002*141x99.8/100 998,000
7l 499,000
[ 149,700
Al 349,300
03 Al CHH 2,000 0 2,000
ODIMBSIX Xtk =4
1,000, 000,000 141x0.2/100 2,000
7l 1,000
[ 300
Al 700
zZ2el 2,990, 100 4,648,763 1,658,663
201 L2 S| 35,500 47,655 A12,155
01 AF222IHI 21,700 31,520 19,820
OYFAl TAlE S2 ZHALIMARE 2
100,000 +62*13] 600
OXFENHE TH(BEEATE S) 7Y
150,0002%2% 300
OXHX € 22lg 40 ¢
50,0002 *8H A*20H 800
OUZE U JpR2, XAX| 22| ZHYXE
600,000 * 103 6,000
O=ZFMet A= 14,000,000 %1 14,000
02 222 13,800 16,135 A2,335
OZXHX E AA SRz 5,400
—&Jea 300,000 128 3,600
—&oleE 22 100,000 % 12 1,200
—XAX £ 2AE AES SR
50,0002 * 122 600
O/ TAIE ADIETAZ X202
700,000 % 12 8,400
206 XHEH| 39,600 119,100 AT79,500
01 XH2H] 39,600 119,100 AT79,500
OJt24 & =X 22| 37,600
—aEh 40,00024x2002| & 8,000
—aa A 40,00024+2002| £ 8,000
=JIASH 25,00024%2002| & 5,000
—SEEHE=N 14,0003 %100 1,400
— SN XA 20,0003 *502| & 1,000




SN 222N
HI: =MAD EE U SAMHIA 2 (SHL A/ AL - A=
@2 sXxZ (Ctol: ®M2l)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
—HEHYHLHI(OLAIERY =)
3,500 800K 2,800
— 32T (HUIL) 16,0002!* 15004 2,400
—HIZ7e 5,000
Eaa=—s =3 5,0002«600 L 3,000
=Eiel= 20,0002 100X 2,000
—=XXFAE LY
20,00021*20Z+ 108 4,000
OZ ANE 3= 7 200,000 %107} 2,000
207 AN 80,000 80,000
01 gAY 80,000 0 80,000
OJlz24 =& 22| HE 8
80,000,000 % 14! 80,000
401 Al&BIL 2 0HY] 2,835,000 4,380,000 1,545,000
01 Al&H] 2,829,900 4,373,900 1,544,000
OAIDHX DIEtE 2 ATy
15,000,0002 %33 45,000
OXAX| AlZZ2IZA
1,500,000, 0002 * 14199 .8/ 100 1,497,000
OJt22= AFS 222 A
677,900,0002* 14! 677,900
OY2t2 Jt24 Of2f QIXELC| AXI(Z=0IEM A
20,000,000 % 14! 20,000
O3RK ZZ3A 40,000,000 %50 A 200,000
OsesY Ml =X 22
10,000,000+ 19SS 190,000
OZ&X ALSDH L X2
200,000,000 * 14! 200,000
03 AlZSTHHI 5,100 6,100 A1,000
OXHX| AlS 222 A
1,500,000,00024*141%0.2/100 3,000
OJt24= AFS 222 A
700,000,0002 % 1A1%0.3/100 2,100
(S)ARIMHIAT R0 (SAIS K222 ) (R BALY) 98,000 0 98,000
[ 64,000
Al 34,000
101 Q124 98,000 0 98,000
[ 64,000
Al 34,000
04 2RISR 98,000 0 98,000
O AlI=XI22e oleY
78,880 21«42 x2802 88,346
[ 57,696
Al 30,650
OBEZ(4i2d) 200,000 %42 %102 8,000
[ 5,224




J Jfop
)z o
P Y 1
g

o ¥

5 2 sMMHIA MS(sEaa/SY - &

=

[—

S - EHH - SR(E) - HRAIR - B e imE=T
Al 2,776
OLl=HI(etd s, otMEE 5)
206, 7502 x4 B *235] 1,654
= 1,080
Al 574
(=)= (Lssxd) 300,000 300,000
| 300,000
401 Al&HIZL 20| 300,000 300,000
| 300,000
01 Al&H| 298,500 298,500
Oal?llls= x4
300,000,000 & *14]%¥99.5/100 298,500
| 298,500
03 Al 204 1,500 1,500
Aelllss =4
300,000,000&*1A1%0.5/100 1,500
| 1,500
(D) SLUlGH=SEI(HHEIIE 144,683 144,683
= 117,986
= 13,349
Al 13,348
401 AEBIZ 20| 144,683 144,683
= 117,986
& 13,349
Al 13,348
01 Al&H| 144,683 144,683
Oz 2IloiX =R(S8 Fakel)
144,683,000& * 14 144,683
= 117,986
& 13,349
Al 13,348
HYSAAY|(SS 22 (IO1EHIIE 77,906 0 77,906
JlE2&| 77,906 0 77,906
J|=3&4| 77,906 0 77,906
201 L2 3| 22,226 0 22,226
01 At=R2t2ld| 22,226 0 22,226
O=AEX 2 20.00081% 138t Ax 12 3,120
OSZ20iAL| 8,000 +7A1x 133122 8,736
Ogbte2g 100,000 %122 1,200
OAAZ TATLH] 50,00021+ 122 600
OAAR 4| 7,010
—=2AD(0E) 22l 1,000,000 1CH 1,000
—Z2IE| 22l 100, 00024*3CH*50/100 150
—=AD| EYH 200,000& %53 *1CH 1,000




2AM:
X{XH -
o /e

cH):

222
HMSHAH|(ZBL22ID) (JIEHIIE
J|=ZH]

S - EHH - SR(E) - HRAIR - B ofl e e imE=T
—ZelEDI(s%) Bl
200,000 %53 *3CH 3,000
—ZalEd|(Zel) EY
200,000 %53 1CH 1,000
—PC ==l 100, 00024 13CH*20/ 100 260
—JIE 22/t] 50,00021* 12 600
OJIEF AFR2t2IH| 10,0002+ 13%H 122 1,560
202 Ot 51,480 51,480
ENGE 51,480 51,480
OZ2rLiodtl 20,0002+ 13 * 12U+ 128 37,440
O2204d] 120,000 %1384 +92! 14,040
203 2EZIH| 3,000 3,000
04 ENSHAREZAIH 3,000 3,000
ORNSZHRFEH| 250,000 %12 3,000
204 Z 24 AHH| 1,200 1,200
NIEEEEERS R 1,200 1,200
OXHZARLBHAH| (DR 22| VH)
100,000 128 1,200




